In the same set of circumstances as in the previous assignment, what information would you need to know to decide how many customers should be included in the sample?
If you wanted to infer the population mean level of satisfaction within plus or minus 0.5 points at a .05 level of significance, how many customers should be included in the sample? Explain how you calculated your answer.
Previous Assignment:

A sample of randomly-chosen customers of your company has been surveyed; each customer has rated his/her overall level of satisfaction with the service provided by your company on a scale from 1 to 10. The mean level of satisfaction of the sample is 6.3 and the standard deviation is 1.5

a) What is the standard error of the mean if the sample included 100 customers? 

b) What is the standard error of the mean if the sample included 400 customers?

c) Explain the relationship between your answers to a) and b)

d) What is the distribution of the sample mean? Why?
Assignment Answer 
A sample of randomly-chosen customers of your company has been surveyed; each customer has rated his/her overall level of satisfaction with the service provided by your company on a scale from 1 to 10. The mean level of satisfaction of the sample is 6.3 and the standard deviation is 1.5

Standard Error of Mean is define as 
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.It is the standard deviation of the sample mean.
a) What is the standard error of the mean if the sample included 100 customers? 


SE = 
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b) What is the standard error of the mean if the sample included 400 customers?

SE = 
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c) Explain the relationship between your answers to a) and b)
The standard in the second case is half of first case

d) What is the distribution of the sample mean? Why?
The distribution of sample mean is normal with mean = population mean and standard deviation = SE. 
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Thus sample mean follows

Case a) .
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Case b) .
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